Installation manual -

W1-1293717










W1-12931%




M10x80 DIN 931(2x
WRENCH 17

M10-N (2x)




D10 DIN 127

M10x30 DIN 933

WRENCH 17

L/R




L/R

L/R

L/R




WRENCH 17

M10x35 DIN 933 (2x)
M10 DIN 985 (2x)

WRENCH 17

WRENCH 17

M10 DIN 985

D10 DIN 125

M10x35 DIN 933

WRENCH 17

I




13




10






